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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
) 7,826 2 4,414 9 3,793 4 2,593 .
X 9 X 7 X 4 X 4 '
2.
3.
4.
5 9,490 6) 4,068 ) 1,890 8 7,900 i
X 6 X 9 X 7 X 2 '
6.
7.
8.
9 5,619 100 4,823 1) 7.597 12) 4,634 .
X 4 X 9 X 6 X 8 '
10.
11.
12.
13 5,066 14) 5313 15 5,688 16) 7932 .
X 9 X 8 X 9 X 4 '
14,
15.
16.
17) 8,861 18) 3506 19 8,433 200 1,731 .
X 9 X 8 X 9 X 9 '
18.
19.
20.
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema.

) 7,826
x 9

70,434

5 9,490

56,940

9 5,619

22,476

13 5,066

53,694

17) 8,861

79,749

2)

6)

10)

14)

18)

4,414
x 7

30,898

4,968

44,712

4,823

43,407

5,313

42,504

3,506

28,048

3 3,793
x 4
15,172

) 1,890

13,230

1) 7.597

45,582

15 5,688

51,192

19 8,433

'75.897

4)

8)

12)

16)

20)

2,593
X 4

10,372

7,900

15,800

4,634

37,072

7,932

31,728

1,731

X 9

15,579

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Respuestas

70,434

30,898

15,172

10,372

56,940

44,712

13,230

15,800

22,476

43,407

45,582

37,072

53,694

42,504

51,192

31,728

79,749

28,048

75,897

15,579
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